Pressure Switch £ S &

214 Series/ 214 %%1|

@ |dia. 3
=

42

M Technical Features/fi AR 15 &,
Series no/ 51| 1=

T30
Working pressure max/f A T{EE )
Bursting pressure/fx = fif [
Design/i% i1

Diaphragm/[ig &

Manner of fastening/[&l € 7 =,

Fitting thread/Z73$518

Ambient temperature/( /& [ )5 &350

Pressure setting range/[x J7 1

Mediun// )5
Adjustability/F% A&
Switch back difference/ 4[] 7=

Material/#7 7}

Weight/E &
Switching element/J1-4<2H {4
Reference voltage/Z% Hi [ &

Reference frequency/ZEE AL AR

Switching frequency max/JT-a=Ee AR
Electrical connection/Hg,)J5 7k
Protective system/{RIF 2247t

SW19 | a/19

Schaltschema | Wiring diagram

@
—fEm—
@
Einstellschraube | Setting screw NO-Contact NC-Contact
M3 DIN 914
214 002 214 010
0.3 —2 bar 1 - 10 bar
2 bar 10 bar
5 bar 20 bar

Spring-loaded diaphragm/Z§ A G 5[ HE

NBR, special design VITON, EPDM

Male thread /4MZ £

G 18" (BB S A {RFE BN E)

-25°C + 85°C ,higher temperatures on demand/5F /= /Y75 & A AR PE 35 21 E

Air, hydraulic oil, oil emulsions, water, others on demand /

Z2S 0 R ~ WA B - AKRARIERREE A H A

Under pressure/{E[E T~

10%

Brass, special design stainless steel, galvanized steel/

B PRSIV EE o BEE

34 ¢g

Silver-plated contacts / special gold-plated contacts / 48 FR#% r5 /45 7k 5 S PE S

42V

Not over 100 Hz/ ~#E#1100 Hz

200/ min

Flat plug 2 x 6.3 x 0.8

IP 00




Pressure Switch [ £ 15 LRAYIER

410 Series/ 410 %]

@ | dia. 28
1 e

e
1

42 (Membranschalter | membranswitch)
25

48 (Kolbenschalter | pistonswitch )

W24 | a/f 24 Schaltschema | Wiring diagram
| @
— i
A &
= Einstellschraube | Setting screw
M5 DIN 914 NO-Contact ~ NC-Contact
B Technical Features/ SRS E
Series no/ Z:%1|H-= 410 002 410010 410 070 410 200 410 350
Pressure setting range/[& /718 7330 F 0.2 - 2 bar 1-10 bar 10 - 70 bar |50 - 200 bar| 100 -350 bar
Working pressure max/f; A TAEE ) 2 bar 10 bar 70 bar 200 bar 350 bar
Bursting pressure/fx = fif [ 10 bar 100 bar 250 bar 300 bar 500 bar
Design/1% 11 Spring-loaded diaphragm/#§ A5HZE[EHH  Spring-loaded piston/#§ A 5 HZE
Diaphragm/[ig & NBR UR
Special design/f 5k 141 VITON,EPDM VITON
Manner of fastening/[&l %€ 5 =, Male thread /§MZZT
Fitting thread/ZZ3512 2} G 1/4",G 1/8" , M12x1.5 , M10x1 Cone

Ambient temperature/( & F5) 5. & SE -25°C + 85°C ,higher temperatures on demand/ 5 = 145 & 0] FEPEFE L1 &

Air, hydraulic oil, oil emulsions, water, others on demand /

B 7S SRR - MBILIER - KRR
Adjustability/F% A& Under pressure/{E[E T~

Switch back difference/ 143 0] 15%-25%

Material/f1e} Galvanized steel, special design stainless steel /£557 8N, EFEAY R N5
Weight/E & 90g 105g

Switching element/J1-4<2H {4 Silver-plated contacts / special gold-plated contacts / FE#R 17 /AR S S HE
Reference voltage/Z% Hi [ & 42V

Reference frequency/EE AL AR Not over 100 Hz/ “Ri#H#1100 Hz

Switching frequency max/JT-a=Ee AR 200/ min

Electrical connection/Hg,)J5 7k Flat plug 2x6.3x0.8 , optionally made up with cable/ f@#7k » R]ZEHHT48

Protective system/{RIF 2247t IP65, terminals IP00 , made up IP67 (a/f27)




Pressure Switch £ S &

B Order information/i] /& B

Wiring Diagram

LTI

Membrane/Seal

Rk
HE

Fitting Thread
EREIREL

Contacts

PER

Material
il

NO-Contact/& JF NBR G 1/4" Silvered/g%R  |Galvanized Steel/HEEEEN

P2l N C-Contact/ 4] VITON G 1/8" Gilded/%%  |VA 1.4305 Stainless Steel /N 50
R Change-over Contact/# i 5  |CR M12x1.5 VA 1.4571 Stainless Steel/ /RN #5450
4 EPDM M10x1 Cone Brass/&4 i
5 UR M22x1.5 Aluminum/48
6 KALREZ G 1/8" NPT
7 Steel Flange-Mounting
8 HNBR M10x1

l 1! 1! l 1! 1! | | 1! 1! l 1! |

| | |

ETIERES, CEdw S

Example: 410 010 112 11 (410 010%&%1] » &JF » NBR » G 1/8" » Silvered * Galvanized)

* Other products and information, please contact us / ELE i

M EMHREE  Wla =]



